IC7A +%v
. o
\ IC1A
2 / 4 5 o
| o?C ERE Q @O‘
. 74ALS08N
e 31 D> CLK .
(@] —] cLr Q\
74LS74N
TC3A
1
3
2
IC6A
74ALS08N 1
3 IC5B IC2B
2 L1la 0 9 -
\ 5011?(: [P)RE Q @O'
1C3B 74LS32N 5 A//
4 11
[>CLK
. ) 6 74ALSO8N Ed cr o [
74LS74N
74ALS08N
IC10A
1
2 12
13
IC6B IC5C IC1B
74ALS11N 4 9 0 9 ~
N . \ 3.1»1—(:2 ;RE Q @O
z < 5 10 j
o — 11
8 8 1C3C 3 [>CLK g
% S) , 74LS32N 74ALS08N Ed cr o
<
< 8 74LS74N
™~ 10
“ 74ALS08N
TC3D
IC10B 12 IC5D IC2A
3 11 12 4C 5 e
4 \ 6 13 \ 11. 2 ERE Q @O‘
5 13 /
74ALSO8N 1C6C 3 Mok
74ALS11N 9 74ALSO8N L] cir o 8
8
10 74LS74N
IC4A
1 IC5A 74LS32N
2 12 1
13 3
2
74LS12N
74ALS08N
1 IC8A 10
2 1l
1 6 5
4 o
74ALS04N IC9D 5
9 8 74ALS21N
IC9B 74ALS04N
3 4 1 IC12A
i 2
74ALS04N 6
4
5
74ALS20N
TITLE: g8
Document Number: REU:
Date: 180/23/2003 17:56: 38 |Sheet: 1/1

11/04/2003 18:17:01 /home/smeets/eagle/2cing_answers/q8.sch (Sheet: 1/1)



